

P	erry									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-	-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	_	-	-	_
Corn	Bushel	All	120.11	\$3.70	\$444.41	\$382.19	\$44.44	\$5.45	70.12	61.97	120.11	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	, <u>-</u>	_	· _	\$5.45	_	-	-	-	_
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	_	-	_	-
Grain Sorghum	Bushel	All	39.67	\$3.95	\$156.70	\$134.76	\$15.67	\$5.45	24.72	21.85	39.67	\$3.40	\$3.00
Oats	Bushel	All	49.87	\$2.67	\$133.15	\$114.51	\$13.32	\$4.00	28.63	25.30	49.87	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,066.87	\$0.37	\$758.54	\$652.34	\$75.85	\$0.46	1,415.65	1,251.06	2,066.87	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	42.26	\$9.12	\$385.41	\$331.45	\$38.54	\$13.00	25.50	22.53	42.26	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	39.33	\$5.50	\$216.32	\$186.04	\$21.63	\$7.30	25.48	22.52	39.33	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Pi	ckens										MYA Price		Assumes Co Assum	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-		\$5.15	-	-	-	-	-
Canola	Pound	All	-	-	-	-	-		\$0.32	-	-	-	-	-
Corn	Bushel	All	194.96	\$3.70	\$721.35	\$620.36	\$72.14		\$5.45	113.83	100.59	194.96	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	_	-	· -		\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-		\$5.45	-	-	-	-	-
Grain Sorghum	Bushel	All	39.67	\$3.95	\$156.70	\$134.76	\$15.67		\$5.45	24.72	21.85	39.67	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-		\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-		\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,542.06	\$0.37	\$932.94	\$802.33	\$93.29		\$0.46	1,741.15	1,538.72	2,542.06	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Soybeans	Bushel	All	41.86	\$9.12	\$381.76	\$328.31	\$38.18		\$13.00	25.25	22.32	41.86	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.32	-	-	-	-	-
Wheat	Bushel	All	51.67	\$5.50	\$284.19	\$244.40	\$28.42		\$7.30	33.48	29.59	51.67	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-		\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\square	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



I	Pike										MYA Price ection			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	-	-		\$5.15	_	_	-	_	_
Canola	Pound	All	_	_	_	-	_		\$0.32	_	_	_	_	-
Corn	Bushel	All	_	_	_	-	_		\$5.45	_	_	_	-	-
Corn	Bushel	Irrigated	218.01	\$3.70	\$806.64	\$693.71	\$80.66		\$5.45	127.28	112.49	218.01	\$3.18	\$2.81
Corn	Bushel	Nonirrigated	113.88	\$3.70	\$421.36	\$362.37	\$42.14		\$5.45	66.49	58.76	113.88	\$3.18	\$2.81
Grain Sorghum	Bushel	All	41.00	\$3.95	\$161.95	\$139.28	\$16.20		\$5.45	25.55	22.58	41.00	\$3.40	\$3.00
Oats	Bushel	All	51.27	\$2.67	\$136.89	\$117.73	\$13.69		\$4.00	29.43	26.01	51.27	\$2.30	\$2.03
Peanuts	Pound	All	3,113.51	\$0.27	\$832.86	\$716.26	\$83.29		\$0.24	3,015.79	2,665.14	3,113.51	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	1,782.54	\$0.37	\$654.19	\$562.60	\$65.42		\$0.46	1,220.90	1,078.95	1,782.54	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Soybeans	Bushel	All	37.62	\$9.12	\$343.09	\$295.06	\$34.31		\$13.00	22.70	20.06	37.62	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	,	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.32	-	-	-	-	-
Wheat	Bushel	All	31.80	\$5.50	\$174.90	\$150.41	\$17.49		\$7.30	20.60	18.21	31.80	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	,	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Rai	ndolp	h								MYA Price		Assumes Co Assum	-
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-	-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	-	-	-	_
Corn	Bushel	All	84.55	\$3.70	\$312.84	\$269.04	\$31.28	\$5.45	49.36	43.63	84.55	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	_	_	,	\$5.45	_	-	-	-	_
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	-	-	-	-
Grain Sorghum	Bushel	All	42.27	\$3.95	\$166.97	\$143.59	\$16.70	\$5.45	26.34	23.28	42.27	\$3.40	\$3.00
Oats	Bushel	All	52.07	\$2.67	\$139.03	\$119.57	\$13.90	\$4.00	29.89	26.42	52.07	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	_	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	35.73	\$9.12	\$325.86	\$280.24	\$32.59	\$13.00	21.56	19.05	35.73	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	59.20	\$5.50	\$325.60	\$280.02	\$32.56	\$7.30	38.36	33.90	59.20	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



R	ussell									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-	-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	-	-	-	-
Corn	Bushel	All	105.47	\$3.70	\$390.24	\$335.61	\$39.02	\$5.45	61.58	54.42	105.47	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	-	-	-	-
Grain Sorghum	Bushel	All	40.20	\$3.95	\$158.79	\$136.56	\$15.88	\$5.45	25.06	22.14	40.20	\$3.40	\$3.00
Oats	Bushel	All	53.40	\$2.67	\$142.58	\$122.62	\$14.26	\$4.00	30.65	27.09	53.40	\$2.30	\$2.03
Peanuts	Pound	All	3,401.28	\$0.27	\$909.84	\$782.46	\$90.98	\$0.24	3,294.53	2,911.49	3,401.28	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	1,964.71	\$0.37	\$721.05	\$620.10	\$72.11	\$0.46	1,345.68	1,189.21	1,964.71	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	32.04	\$9.12	\$292.20	\$251.29	\$29.22	\$13.00	19.33	17.08	32.04	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	43.20	\$5.50	\$237.60	\$204.34	\$23.76	\$7.30	27.99	24.74	43.20	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



SI	nelby									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	_	\$5.15	_	-	-	-	-
Canola	Pound	All	_	-	_	-	_	\$0.32	_	-	-	_	-
Corn	Bushel	All	129.38	\$3.70	\$478.71	\$411.69	\$47.87	\$5.45	75.54	66.76	129.38	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	_	, <u>-</u>	-	' -	\$5.45	_	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$5.45	-	-	-	-	-
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,157.78	\$0.37	\$791.91	\$681.04	\$79.19	\$0.46	1,477.93	1,306.10	2,157.78	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	31.30	\$9.12	\$285.46	\$245.50	\$28.55	\$13.00	18.88	16.69	31.30	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	50.33	\$5.50	\$276.82	\$238.07	\$27.68	\$7.30	32.61	28.82	50.33	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Sı	ımter									MYA Price		Assumes C Assun	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	_	_	\$5.15	_	_	_	-	-
Canola	Pound	All	-	-	_	-	_	\$0.32	_	_	_	_	_
Corn	Bushel	All	143.31	\$3.70	\$530.25	\$456.02	\$53.03	\$5.45	83.67	73.94	143.31	\$3.18	\$2.81
Corn	Bushel	Irrigated	_	_	-	-	-	\$5.45	_	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	_	-	-	-
Grain Sorghum	Bushel	All	39.67	\$3.95	\$156.70	\$134.76	\$15.67	\$5.45	24.72	21.85	39.67	\$3.40	\$3.00
Oats	Bushel	All	48.00	\$2.67	\$128.16	\$110.22	\$12.82	\$4.00	27.55	24.35	48.00	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	31.09	\$9.12	\$283.54	\$243.84	\$28.35	\$13.00	18.76	16.58	31.09	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	44.33	\$5.50	\$243.82	\$209.69	\$24.38	\$7.30	28.72	25.38	44.33	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Tal	ladeg	a								MYA Price ection		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	-	_	\$5.15	_	_	_	_	_
Canola	Pound	All	-	_	-	-	_	\$0.32	_	_	-	_	_
Corn	Bushel	All	_	_	-	-	_	\$5.45	_	_	-	_	_
Corn	Bushel	Irrigated	216.54	\$3.70	\$801.20	\$689.03	\$80.12	\$5.45	126.43	111.73	216.54	\$3.18	\$2.81
Corn	Bushel	Nonirrigated	167.02	\$3.70	\$617.97	\$531.45	\$61.80	\$5.45	97.51	86.17	167.02	\$3.18	\$2.81
Grain Sorghum	Bushel	All	42.33	\$3.95	\$167.20	\$143.79	\$16.72	\$5.45	26.38	23.32	42.33	\$3.40	\$3.00
Oats	Bushel	All	56.00	\$2.67	\$149.52	\$128.59	\$14.95	\$4.00	32.15	28.41	56.00	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,386.70	\$0.37	\$875.92	\$753.29	\$87.59	\$0.46	1,634.72	1,444.66	2,386.70	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Irrigated	56.97	\$9.12	\$519.57	\$446.83	\$51.96	\$13.00	34.37	30.37	56.97	\$7.84	\$6.93
Soybeans	Bushel	Nonirrigated	34.07	\$9.12	\$310.72	\$267.22	\$31.07	\$13.00	20.55	18.17	34.07	\$7.84	\$6.93
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	66.45	\$5.50	\$365.48	\$314.31	\$36.55	\$7.30	43.05	38.05	66.45	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Tus	caloos	sa									MYA Price ection		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$5.15	_	_	_	-	_
Canola	Pound	All	-	_	-	-	_		\$0.32	_	_	_	_	_
Corn	Bushel	All	156.98	\$3.70	\$580.83	\$499.51	\$58.08		\$5.45	91.65	81.00	156.98	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-		\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-		\$5.45	_	-	-	-	-
Grain Sorghum	Bushel	All	41.00	\$3.95	\$161.95	\$139.28	\$16.20		\$5.45	25.55	22.58	41.00	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-		\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-		\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,148.96	\$0.37	\$788.67	\$678.26	\$78.87		\$0.46	1,471.90	1,300.76	2,148.96	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Soybeans	Bushel	All	40.86	\$9.12	\$372.64	\$320.47	\$37.26		\$13.00	24.65	21.79	40.86	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	,	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	,	\$0.32	-	-	-	-	-
Wheat	Bushel	All	51.43	\$5.50	\$282.87	\$243.27	\$28.29	,	\$7.30	33.32	29.45	51.43	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	,	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Was	hingt	on								MYA Price ection			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	_	_	\$5.15	_	_	_	_	_
Canola	Pound	All	_	_	-	_	_	\$0.32	_	_	_	-	_
Corn	Bushel	All	171.65	\$3.70	\$635.11	\$546.19	\$63.51	\$5.45	100.22	88.57	171.65	\$3.18	\$2.81
Corn	Bushel	Irrigated	-		-	-	-	\$5.45	-	-	-	-	, -
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$5.45	-	-	-	-	-
Oats	Bushel	All	48.80	\$2.67	\$130.30	\$112.06	\$13.03	\$4.00	28.01	24.76	48.80	\$2.30	\$2.03
Peanuts	Pound	All	4,066.22	\$0.27	\$1,087.71	\$935.43	\$108.77	\$0.24	3,938.61	3,480.67	4,066.22	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,258.61	\$0.37	\$828.91	\$712.86	\$82.89	\$0.46	1,546.98	1,367.12	2,258.61	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	37.47	\$9.12	\$341.73	\$293.89	\$34.17	\$13.00	22.61	19.98	37.47	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	49.17	\$5.50	\$270.44	\$232.58	\$27.04	\$7.30	31.86	28.16	49.17	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields